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Q7 By implicit differentiation: di xcos(x+y)=0
by

Qla p(z)=(z+ai) +b=2>+2aiz—a*+b=2z> +6iz—25 x[—sin(x+y)><(l+?D+cos(x+y):0
sa=3and b=-16 . p(z)=(z+3i) 16 .
2 A2 xsin(x+ y)ﬂ=cos(x+ y)—xsin(x+ y) . ﬂ:;—l
Qb p(z)=(z+3i) -16=0 .: (z+3i) =16, z=+4-3i dx dx  xtan(x+y)
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) Q9 u=sin2x, lﬂ:cosbc
Q3a For 1 cup, u=10, 6=15, Var(X)=1.5>=2.25 2 dx
For 4 cups, 1 =4x10=40, Var(X)=4x225=9, 6=+9 =3 f(x)_J' C"Szzx dx= .[_ Sdu=——+c and given f(%j:%
sin” 2x -
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Q3b Note: Misleading statement “Following the service, the mean
time taken to dispense 25 cups of coffee is found to be 9 s”? Ql10a | |
n=25,x=9,0=15 )\ j|
95% confidence interval for u is }\ /i
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Q4 3x +24x+12:é B)ZCJFC,A,BandC are found to be 3, 0 \} |/
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and 4 respectively. ISX +24x+12 dx=J.é > dx
xlx”+4 x +4 = &
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Q5a t=0,v=0, tanfd=— .. sinf=——, cosf=——
3 V10 V10
. V.4 2tan % 1 2x
10g sin & § constant acceleration .. v =at 28 ms! Note: tangzlt—2 let x—tan—>0 T: x2
_ — . = = — —tan T
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Solve to obtain x = tan% =2- \/g
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Please inform mathline @ itute.com re conceptual
and/or mathematical errors.

Q6a Ei.l;:abcos&, 8=2l1cos8, cosn9=% and O<¢9<§

Q6bi a’=x;+yj , @=a‘5—2a7=(x—2a);+y7

QObii &5@5 = x(x—2a)+
. O_P> 1 @‘5

z)c()c—2a)+az—(x—a)2 =0
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